
PN 822 X2 PN 821 X2

PN 265 X2 PN 549 X2 PN 113 X2 PN 89 X2

PN 90 X2 PN 550 X2 X1 TB8370309 X2

TAPE

MEASURE

10mm WRENCH/RATCHET

9/16" WRENCH/RATCHET

1/4" , 13/32"  DRILL BIT

Place the tool box in the bed of the truck and use the tape measure to center the box.

Place the mounting brace [K] on the truck bed, centered on the tool box, and against the tool box on the

hinge side.  Mark the hole locations in the brace.

F
3/8" WASHER

G
3/8" LOCK WASHER

D
1/4" WASHER

E
J-BOLT

TOOLS REQUIRED

1

TOOL BOX M6 BOLT M6 NUT
A B

Poly Tool Box Installation InstructionPoly Tool Box Installation InstructionPoly Tool Box Installation InstructionPoly Tool Box Installation Instruction

C

H I K
3/8" NUT VINYL CAP GASKET

J
MOUNTING BRACE

PS POLY TOOL BOX 1 OF 2

https://www.carid.com/dee-zee/


Remove the tool box and drill the marked holes with a 1/4" bit.

Attach the mounting brace to the box

using the M6 bolt [B], washer [D], and

M6 nut [C].

After attaching the moutning brace,

apply the gasket [J] to the bottom 

side of the mounting brace.

Place the tool box back in the truck bed and center the tool box.

Drill a 13/32" hole at each end of the tool box between the edge of the tool box and the bed rail

of the truck.  Be sure that the bed rail is clear of the drill bit when drilling to avoid damage.

Bring the J-bolt [E] up through

the drilled holes and hook

over the bed rail.  Attach

using the washer [F], lock

washer [G], nut [H].  

Tighten until the tool 

box is secured and doesn't

move.  Do not over tighten.  

Once both J-bolts are installed. 

Cover the threads of the 

J-bolt with the vinyl cap [I].

2

2

HINGE SIDE

PS POLY TOOL BOX 2 OF 2

Learn more about bed accessories on our website.

https://www.carid.com/bed-accessories.html



